B. Com. (Part I) EXAMINATION, 2020

e :

(Old Course)
(Group-1 : Accounting)
Paper Second
BUSINESS MATHEMATICS
Time : Three Hours
Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THERE—1

(UNIT—1)

1. @) waw:e

4x8 4+ x* — x2 — 5¢%
BT x B AN JTHTT BT |
Differentiate the function :

4x8 4+ x3 — 3% - 5e*
with respect to x.
Beld -

u ='ax? + 2hxy + by?
& fory gor Wi &7 |eareE P |
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Verify Euler’s theorem for the function :
u=ax + 2hxy + by?

ey

(Or)
B -

y =2x3 —15x% +36x +11

@ JTad 9 (EIaH e ) B |
Find the maximum and minimum values of the
function :

y=2% 152 + 36x +11
age aRel W wEEr A S B
7.2 x 8.3 x 0.4

Obtain the valué using log tables :
7.2 x 8.3 x 0.94
gEE—2
(UNIT—2)
RrfaRag arP § 10, 11, 12 @ vews Fefen
' 10 13 16
!1,; 14 17
2 15 18

Find the cofactors of 10, 11, 12 in the following
determinant : :

lto 13 16

11 14 17

12 15 18

(A-41)

[3] CD-2004
g
B .2, .3
4 5 6
; Tl 8
<IN . B=|9 10
11 12
@ AB BT AF T B |
TE: 7
Ao 1eieind
4 5.6
8
and B=|9 10
11 12
find the value of AB. :
SrRIEr
or .
m %ﬂ%nq : ;
a +1 ab ac
ab b2 +1 bc |=1+d?+ b2+ 2.
ac be 2 +1
Prove that :
a’ +1 ab ac
ab b2+1 bc =1+a2+b2+cz.
ac  be c*+1
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@) ot W far gRT 37egE ¢

1 .28
A=.2 5 1
-1 4 4 :
B Geht HIH P |
Find the inverse of the matrix :
1243
A =1 2% 807
-1 4 4
by using elementary column operation.
TPE—3
(UNIT—3)
Frfafes Y weee waer & TeE Rl ¥ s
PR :
rfy@meERoT BN -
z=10x + 30y
Sl ‘
x+2y <20
x+ 5y <35
x+4y £ 48
Xy 20
Solve the following linear programming problem by
graphical method :
Max. :
z = 10x + 30y

(A-41)
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Such that : :
x+2y <20
x+5y <35
x+4y < 48
x,y 2 0.
At
(Or)
@) AgnmTBAAIYHO: 4257@3%%1*&1’3{6&%
TH! 3G BT UM 5 : 3 B A ¥ A A
3y feprferg |

The ages of A and B are in the ratio of 9 : 4. Seven
years hence, the ratio of their ages will be 5 : 3. Find
their present ages.

@) 15%?’7%@&(“17@@%6&3%

14 A § S € @ 21wl 10 9 wRiRke am
HRp foa fadl & S 72

15 men plough a land in 14 days working 12 hours
daily. How many days will be taken by 21 men to
plough the same land working 10 hours daily ?

o4

(UNIT—4)

@) @ o7 ERT = @ av ¥ % 1,200 @

3 asi % ¥ 1,300 B T 2| oA w1 &S B R
ufd af P |

A certain sum at simple interest becomes ¥ 1,200 in
2 years and ¥ 1,300 in 3 years. Find the principal
and rate of interest per anaum.

{A-44) P. T. O.
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foem auf 7 5% iy af & @ ) | T 1,200 @
THdfe @ X 573 8 SR Of @ @ o
gfr g @ Sl & ?

In what time a sum of ¥ 1,200 will earn ¥ 573 as
compound interest at the rate of 5% per annum, if
the interest is added annually.

3T

(On
25,000 &7 2 99 &1 IwHqlg ol | fAsEd @
B A SRR a9l @) W 4% T 5% aifie
g7 / .
How much will ¥ 25,000 amount to in 2 years at

compound interest if the rates for the successive
years be 4% and 5% per year ?

3% TG S B I W 12 9 B fag T 200 B
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Find the amount, present value and interest of an
annuity of ¥ 200 for 12 years, the rate of compound
interest is 3% per annum.

FIIE—5

(UNIT—S5)
15—20 T B fog Mgl s PR e
19 BT ? :

i ; e
5—10 2
10-—15 2
1520 ?
20—25 4
25—30 4

(A-41)
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Determine the frequency of thé class interval
]5-—20. The average being 19 units : :

Class Frequency
510 2
10—15 2
15—20 ?
20—25 4
25—30 4

% gH B BT 20% el @ WY A SuEET @
fove wRtrers sgrm oy 5 @ g S A @ 7
How many percent should the use of milk be
increased if the price of milk is decreased by 20% so
that the expenditure remains unchanged ?

4T
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W 9% T odl 8 R gur fiemer 99 g
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An agent charges 5% commission on cash sales and
9% on credit sales. If his overall return is 7%%~ on

the total sales, find the ratio between the two
sales.

(A-41) P. T. O.
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@ ve Pefar o A @ @ ¥ 20% ARe w®
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R | :
A manufacturer wants to charge the price of his
goods at 20% above cost price. He allows x%
discount to the customers on this marked price and
still makes a profit of 5%. Find the value of x.

CD-2004 2,300

(A-41)



